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BYZLOBRAEDSZELTERBNTEU,

WUE 1E¥s | IME zE R SZEEE WUE @5 | Ae zE R SEBES
1 362 90 500 29 k 1 412 95 500 33 k
550 & g 300 & g
3@ 362 90 500 38 kg 3i& 412 95 500 46 kg
miE A=0.0245 H1fE A=0.0283 m?
362 ’_ 412 _‘
5 ‘Lso‘as 182 35‘50“5 5H51‘40 220 40‘51“ 5
H 3@ A=0.0321 m H3f& A=0.0387 m
362 ’_ 412 _‘
5 ‘L 352 H 5 5 H 402 H 5
BIEANISERCERILTTY A=0. 1781 m* BIENISEREERLTTY A=0.2031 m*
362 412
10 135 10 10 135 10
f k
$=1/15 $=1/15




BEsAE, 1S\

BYZLOBRAEDSZELTERBNTEU,

WUE 1E¥E | IME zE R SZEEE WUE @5 | Ae zE R SEBES
1 512 110 500 47 k 1 572 120 500 58 k
400 " J 450 e g
3@ 512 110 500 66 kg 3@ 572 120 500 80 kg
miE A=0.0398 H1fE A=0.0480 m
( 512 W ( 572 W
i“ﬂMﬂ\i‘.“i EH 56 ‘50 350 50‘ 55H 5
H 3@ A=0. 0558 m H3f& A=0. 0680 m
( 512 W ( 572 W
5 H 502 H 5 5 H 562 H 5
B IENESEEEEFLTY A=0.2531 n* BIENESEEEETELUTY A=0.2831 m’
512 572
10 135 10 10 135 10
f k
$=1/15 $=1/15
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10 135 10

=
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10 135 10

WUE 1E¥E | IME zE R SZEEE WUE @5 | Ae zE R SEBES
178 622 125 500 65 kg 178 132 145 500 83 kg
500 600
3@ 622 125 500 92 kg 3@ 7132 145 500 124 kg
] A=0. 0546 m? 17 A=0.0702 m
622 732
[( | [( |
| P A Ll ol
m37E A=0.0771 m H3iE A=0. 1054
622 732
T | d }
5 H 612 H 5 5 H 722 H 5
A=0.3081 m’ BIANISEEREE[CTT A=0.3631 m’

S=1/15
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BYZLOBRAEDSZELTERBNTEU,

SRz 1S

M@= &% BN TE e sEE=S NG 12%8 BN TE = SEES
1 832 155 500 100 k 1 947 170 500 122 k
700 " d 800 i £
3i& 832 155 500 153 kg 3i& 947 170 500 190 kg
miE A=0.0841 H1fE A=0.1021 m
832 W 947 W
H 81,170 560 10 ‘6‘ H5 1. 5H 66| 80 640 80 ‘ 66 H 1.5
H 3@ A=0.1282 m H3f& A=0.1597 m
( 832 W ’_ 947 W
5 H 822 H 5 7.5 H 932 H 7.5
BIEANISEECERILTTY A=0. 4131 m* BIENISEREERALTTY A=0.4706 m*
832 947
10 135 10 10 135 10
f f
$=1/15 $=1/15




